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1. How does the man feel about the class?

A. He does not understand it. B. He does not like it.
2. How leng did it take the woman to finish her paper?

A. Less than an hour and a half. B. Not more than half an hour.

3, What does the man want to tell us?
A. His son is not doing well.
B. His son is as smart as his father.
C. His son is very poor.
4. What can we get from the conversation?
A. The man moved the desk with his friends.
B. The man had some classmates move the desk.
C. Tom and Lin Tao aren’t in the same class.
5. When did the talk begin? .
A. At 8:50. B. At 9.:00.
gt}

C. He is used to it.

C. More than an hour and a half.

4

C.A19:10.
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6. What is the probable relationship between the two speakers?
A. Schoolmates.
B. Teacher and student.
C. Parent and child.
7. Why was Tony absent from school?
A. He was ill at home.
B. He didn't like his teacher.
C. He was lost in playing computer games.
8. What is the woman’s opinion on this matier?
A. Teenagers should he prevented from the Internet café.
B. Students should do things more instructive.

C. Students shouldn’t lie to their parents.
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9. Why is the man complaining?
A. He got a very bad grade in physics.
B. The woman doesn’t understand his problem.
C. David got a better grade while working less.
10. What did the man do last Sunday?

A. Reviewed his lessons. ~ B. Went home. C. Took a part-time job.
11. What will the man do?
A. Get his grade changed. B. Speak to the teacher. C. Work harder to improve.

FESEMA, GEL 12 £14 8,
12. Why did the woman come to see the man?
A. To learn English from him.
B. To join a club.
C. To ask for advice.
13. What does the man think of the woman’s English?
A. It is getting better. B. It is good enough. C. It is just so-s0.
14. What does the man advise the woman to do?
A. Leamn English on her own,
B. Ask her classmates for help.
C. Try to get close to Americans.
WO B, MER 15 217 M,
15, What lime are the speakers talking?
A. Just before 9:00 a. m.
B. Nearly 9:00 p. m.

C. At9:10 p. m.
16. How does the man usually go home?
A. By car. B. On foot. C. By bus.

17. What does the woman' mother do to help and support her?
A. Pick her up in their car every day.
B. Make sure she finishes her tasks.
C. Take good care of her daily life.
S I0RHH WAL IBE20M,
18. What is the speaker mainly talking about?
A. How to enlarge our vocabulary.
B. How to study a foreign language.
C. How to use a foreign language.
19. What is the hest way to learn a new language?
A. Use it as much as possible.
B. Keep on practicing your speaking and writing.
C. Listen to songs and read novels.
20. What does the man suggest?
A. Trying hard to memorize grammar rules.
B. Trying different ways to enlarge your vocabulary.
C. Listening to songs in the foreign language.
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1. What can you learn from this conversation?

A. The woman is going out to lunch.

B. The woman wanis to eat some chocolate.

C. The woman will go to a convenience store.
9. Where does this conversation happen?

A. At home. B. At a restaurant. C. At a store.
3. Where is the woman?

A. In a store. B. In a hospital. C. In an office.
4, What vegetables does the woman sell nl:w?

A. Potatoes and carrots. B. Celery and potatoes. C. Tomatoes and celery
5. Who cooked the dishes?

A. The 20-year-old girl.

B. The girl's mother.

C. The 12-year-old girl.
s i}
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6. What is $118 for the necklace?

A. The asking price.

B. The bargained price.

C. The fixed price.
7. What does the woman think of the necklace’s price?

A. A little low.

B. A little high.

C. Reasonable.
8. How much does the woman bargain on the necklace?
A. §10. © B. $13. C. $20.

w7 AR AEHIE 11 #,
9. Where does the men get the information about Harling’s Shopping Center?

A. Over the radio.
B. Over the TV.
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C. Over the newspaper. !

10. What size does the man want?

A.40. B.41. C.42. %
11. What kind of suit does the man want to have?

A. A black one made of wool.

B. A red one made of cotton.

C. A dark grey one made of wool.
HH MR SER 12 £ 148,
12. What has the man just done?

A. He’s just eaten his meals in the restaurant.

B. He’s just checked in the hotel.

C. He’s just made a mistake. ul
13. What was the mistake?

A. The total number was added wrong.

B. The price was written down wrong.

C. The table number was mistaken.
14. Which room does the man live in?

A. 306.

B. 603.

C. 605. : ;
R A, WEE 15 £ 17 A, &

15. What kind of MP3 player does the woman want to have?
A. It must have a very large screen.
B. It must be big enough sv that a thief can’t take it away easily.
C. It must play music from both the CD players and the Intemnet.
16. What do we know about the MP3 player the man recommends?
A. Tts battery charger is fixed inside.
B. It can store 75 songs at the most.
C. Its build-in sound system sounds wonderful.
17. How long can the recommended MP3 be continuously played once charged’ up?
A. 4 hours. B. 14 hours. . €. 40 hours.
w10 EMH WER 18 £20 4,
18. What advantage does Ben's new car have?
A. It doesn’t need petrol.
B. It can save little money for petrol.
C. It can be used for different purposes.
19. How does Ben’s son show that he is proud of the new car?
A. By driving it to his school.
B. By picking up his sister in the kindergarten.
C. By writing a long essay to sing high praise of it.
20. What disadvantage does the new car have?
A. It breaks down more often than the old-fashioned car,
B. It won't work when it has been cloudy or rainy for some time.
C. It depends more on the driving skill than the old-fashioned car.
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1. What did the man do last night?
A. Saw a play himself.
B. Saw a play with Tarloy.
C. Saw a play with the woman.
2. What does the woman mean?
A. The man is quite healthy.
B. The man hasn’t done exercise recently.
C. The man is working hard.
3. What is the weather like now?
A. Fine. B. Cloudy.
4. Why does the man hope the weather will change soon?
A. He wants to watch the sports meeting.
B. He wants to climb mountuins.
C. He wants to attend a meeting.
5. Which class won the football match?
A. Class 3. B. Class 4.
Bo¥

C. Raining,

(. Class 1.
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6. What will the two speakers play this weekend?
A. Tennis.
B. Golf.
C. Golf and tennis.
7. What do we know about the woman?
A. She can’t play tennis.
B. She can't play golf well.
C. She has got a new joh.
8. What do we know about the man’s job?
A. He is in the accounting department.
B. He works at the computer all day long.
C. He works in a bank.
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9. What does the woman think of watching a rughy game on the spot?
A Tt's too dull.
B. It’s too thrilling to her poor heart.
C. The players are too dangerous to her.
10. What will the woman do to the rugby game?
A. Watch it with the man on the spot.
B. Watch the live broadcasting on the Internet.
C. Watch the video of it from the Sohu Website later.
11. What does the man advise the woman to do?
A. Go to the game spot.
B. Watch the game by TV.
C. Go to Internet to get information about the game.
¥ 8 MR BN 12 2144,
12. What is bothering the woman?
A. She doesn’t like living in the city.
B. She has been left behind.
C. She’s tired of doing the same things every day.
13. What is the woman?
A. A house wife.
B. A college student.
C. A high school student.
14. What will the woman do next?
A. Study.
B. See a film.
C. Go 1o sleep.
A9 BAR,WER IS £1T M,
15. Where are the two speakers most likely talking?
A.In a park. B. In a restaurant.
16. How does the woman feel now?
A. Tired. ‘B. Hungry.
17. What does the man want to do?
A. Look at the monkeys.
B. Get some iced coffee.
C. Look at that polar bear.
K10 At AR 18 £204,
18. How long is it sometimes necessary for the speaker to wait for a bus?
A. Thirteen minutes. B. Half an hour.
19. What is the number of passengers a bus may carry?
A.20. B. 40.
20. Why has the persen spbken all these?
A. He wants the bus services to be improved.
B. He wanits the police to punish the bus drivers.

C. He wants the passengers to consider whether or not to travel by bus.

n www.zhx-edu.com
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1. What does the woman mean? _

A. She doesn’t allow the man to have a two-day leave.

B. She allows the man to have a two-day off.

C. She permits the man’s two-day off.
2. When does the bus leave on Friday?

A. At 6:30. B. At 6:45. C. At 7.00.
3. What does the woman want to do first?
. A. Do her homework. B. Go to the cinema. C. Go to the concert.

4. What is Miss Chen like according to the man?

A. Very scary and mean.

B. Very kind and encouraging.

C. Very strict but sometimes funny.
5. What can we know about the man?

A. He is going to buy tickets today.

B. He doesn't get the tickets for Saturday evening.

C. He is going to the theater another evening.
BW
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6. What do we know about the apartment?

A. It has three.bedrooms. B. It has a big kitchen. C. It has a small bathroom.
7. How often does the woman want the rent to be paid?

A. Once a month. B. Once every six months. C. Every three months.
8. What will the man do tomorrow?

A. Wait for the woman’s call.

B. Give the woman his rent.

C. Take a look at the apartment.
HETRAM, GEFI £11 K,
9. What can we know about the woman?

A. She wants to keep a good figure.

B. She may be a foreigner.
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C. She has never eaten Chinese food.
10. Why does the man persuade the woman 1o have more food?
A. To show her his skilled cooking.
B. To show her his hospitality.
C. To show her his wealth.
11. What did the woman think of the Chinese food?
A. Very bad.
B. Fairly delicious.
C. Just so-s0.
T 8 A, WS 12 £ 14 4,
12, Where does the man want to go?
A. The Science Museum,
B. The Art Museum.
C. The Natural History Museum.,
13. How often do the trains come?
A. Every [ive minutes.
B. Every six minutes.
C. Every four minutes,
14. Where should the man get off the train?
A. At the State Street Station.
B. At the Science Museum.
C. At the train Station.
H OB, AR 15 217 8,
15. What do we know about the backpack the man lost?
A. Tt looks very childish.
B. It is a sports backpack.
C. It is made of soft leather.
16, Where is the sleeping cat?
A. On the back in the Jeft-hand bottom corner.
B. At the bottom in the left-hand corner,
C. On the top in the left-hand corner.
17. How many items dees the backpack contains?
A. Three. B. Four. C. Five.
FE 10 B, EER 18 2208,
18. What is the main purpose of the talk?
A. To give a prize to 2 musician.
B. To introduce a famous pianist.
C. To invite a musician to a concert.
19. At what age did the pianist begin to play his own music?
A. 5. B. 10. C. 40.
20. What will the speaker mainly talk about?
A. A pianist’s childhood.
B. A pianist’s school time.

C. A pianist’s experiences.

www.zhx-—edu.com



BERFLAEIAN N SDEDOD

Unit5 @BFE. KESENH

¥
R S BowtiE, SEMIEEHE —AVME, MNEFEiGK A B.C A TR S Y R R RO, Ham AR

BN E. WREBIERG , REHA 10 b b B B 17 3 8] 25 A 36 /N R B R — /DL, 45 By x5 L
—R,
1. What does the woman mean?

A. They don’t have to go to the concert.

B. His brother will let them use the car.

C. The bus is fine with them.
2. What are they talking about?

A. A book. B. An actor. C. A theater.
3. What was wrong with the baby?
A. She ate too much. B. She had a headache. C. She had a fever.
4. What does the man think of the lecture?
A. Boring. B. Excellent. C. Too long.
5. What are the two speakers talking about?
A, Painting. B. Hobbies. . C. Rivers and mountains.
gt
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6. What did the man like best about the zoo?

A. The giraffes.

B. The elephant.

C. The birds..
7. What did the elephant do at the zoo?

A. It kicked dirty food in the visitors” direction.

B. It sprayed water at the children.

C. It threw dirt at the visitors.
8. Where did the man see the butterflies?

A. Inside a glass building.

B. In a wooden building.

C. Around the zoo.
o T EMR, SER O 11 M,
9. Who is the man?

A. A taxi driver.

- B. The woman speaker’s friend.

o
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C. The woman passenger’s husband.
10. What is the problem with the woman?
A. She has been hurt in an accident.
B. She is having a heart attack.
C. She is giving birth to a baby.
11. Where are the two speakers now?
A. On the freeway.
B. In a busy street.
C. At the Longquan Exit.
Fk S B WAL 12 2144,
12. What is the probable relationship between the two speakers?
A. Teacher and student.
B. Husband and wife.
C. Classmates.
13. What are they going to do?
A. Play baseball.
B. Have a meal.
C. Read the magazine.
14. What does the man like best?
A. Tennis.
B. Skating.
C. Dancing.
U 9 B, G AR 15 £17 4,
15. Why does the man need the results of the survey on free-time sporting activities?
A. For their homework. '
B. For the Friday's sports meeting.
C. For the Friday’s business meeting.
16. Which group seems to be mosi active in sports?
A Age 18 -26. B. Age 27 -35. C. Age 36 -45.
17. Which sporl was considered as the third most popular sport?
A. Swimming. B. Tennis. C. Cycling.
L RUR LRk S BUE L
18. What can we know from the passage?
A. Something about the woman's work.
B. Something about the woman's study.
C. Something about blood transfusion.
19. What finally made almost every blood transfusion successful?
A. The discovery of blood types.
B. The founding of a blood bank.
C. The experiment with sheep blood.
20. How long does it take your body to replace it if you give 10% of your blood?
A. Five days.
B. One day.
C. One week.
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